W

W
u

u
FALY

618481
02'69.}
86'c2y
86088
vLv9y

G8'v88
66'112Z
A
Le'zeT

W €67 =08'0u ¥ =mdd

A 96 =l =MOd
A 9E'LE  =PB'LY =(ist)od
A ¥8'L =09'G.SE0.Y =i5d
w 08's =
w ge'0 =75=|8
2s 00'7 =U
A 910l =Z5'P.SE0E Zqndd
W EE0Z =ZS'PL.SE'DNCNC Zadd
w Ge'0 =8
. w Ge'0  =81'0-Z/(0E0+5L'0) =isy
\N@. % | W zs'yl =1
Zs 002 =u
= (%G+) 9d W 220L =09'PIGED.L 1qndd
= ('zod)zg+(uoid)zd+(deind)zd = zd WGP =09'VhaZY'0.8.2 1add
(worzod)ad X Z = (wojzod)zd w ge'o =|$
(uoid)ad x z = (uoid)zd w Zy'o  =81'0-09°0 =1y
(dejnd)od x Z = (degnd)zg w 09'vl =17
AMOWOM Z = MA1SAZO AGOM MIN¥OIEZ Zs 007 =u
M B6'LLE =28'Pha08'Y) =15d
= 66'} L Z+67'0FP+LETET = (wozod)od+(uoid)od+(dend)ogd =99 < 66'L1Z  =26'7L.09'%L =pd
pd = (worzod)ad W tE6SE = 2L'%(CS'I+09'PINT  =Sd
=06'p+9€' LE+6€'02+E6G VT +VE BIE = Mdd+zqdd+1qdd+sd = (uoid)od  w 21’9 =BL°0-GL'0+09'G =H
=0}'04+22'04+66'}12 = zqndd+Lqndd+isd = (dejnd)od W 26'vl  ='0.22E'S) =$
:AMOWOM | "MOd JINMONNSAOd W 087l =q

VIMONSOS MNZ M MOLVYLTI4 VXINYOIEZ V1d FINZYLINMIM INHOZH3IMOd 3IN3ZINE0

nze ueios ‘mod
niomjo ‘mod
(088X00¥1X00¥ 1) Zep

modnis ¢ ‘mod
ednjs eiuyozismod
250)0SAM

19z8

2501l

(espemy) Adnig

emodemnd ‘mod
emouoid ‘mod
asoy0IazZS

BlUPaIS 95040SAM
9s06niq

501l

0S€ X 00€/05L Bieg

emodejnd ‘Mod
emouold ‘Mod
250%01828
950408AM
9s06ntq

950l

0S€ X 009 ejieg

ndons ‘mod
BUP "MOd
UeIos "Mod
950408AM
950401528
osobnip

| elowoy|



